The student squared x only instead of 1.98 and x. Here is the correct work:

1.98x = /58 + y

21.

22.

23.

24,

25.

3.92x2 =58 +y
392x2 —58=y

VIS+x—-6=14

715+x=20

2
(\/75 I x) = 202
75 + x = 400
X = 325

25— ¥/x=122
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27.

29.

\/y—142
X=———

0.05

0.05x = 1/y — 14.2
2 2
(0.05x)" = (\/ y- 14.2)

0.0025x2 = y — 14.2
0.0025x2 + 142 =y

X=1/x+6

x2 = (Vx+6)

x2 =x+6

2

x2-x-6=0
x=-3)(x+2)=0
x=3o0rx=-2

X=4x+6 x=4/x+6
3=434+6 —2=14/-24+6
3=4/9 —2#+/4

The only solution is 3. The solution =2 is extraneous.



4x = \/6x+ 10
(4x)2 = (\/6x+ 10)2

16x2 = 6x + 10
16x2 —6x—10=0
(x—1)(16x+10) =0

x=1 orx=—%
4x = 4/6x+ 10
4(-2) = \/6 (—i) +10
4x = \/6x + 10 8 8
4(1)=/6(M+10 -2 = /-2 +10
4 =14/16 _5_ /15 40
2 4 4
5 25
27V7%

The only solution is 1. The solution —% is extraneous.

(I N)

0.5(x? +5x+136)3 =50

2
(x? +5x+136)3 =100
N
(()(2+5x+136)§>2 - (1002

1 3
x2 4 5x 4136 = ((100)2)

x2 4 5x + 136 = 1000
x2 +5x—864=0
(x—27)(x+32) =0
xX=27orx=-32



35.

37.

+4x+5)2 +1=0

(x?
(x2 +4x + 5)

Njw MW

= —1

wlN

[(x2 +4x+5)%] =(—1)%

X2 +4x+5=1
x2 +4x+4=0
x+2)(x+2)=0
x=-2

3
(22 +4(-2)+5)2 +1=0

3
(4—8+52+1=0

3
12 +1=0
2#0

There are no solutions.

VAx+5—/x+1=1
VAx+5=/x+1+1

2 2
(\/4x+5) = (\/x+1 +1)
4x+5=x+1+2¢/x+1+1

4x+5=x+2+24/x+1
3x+3=24/x+1

Bx +3)2 = (2 x+1>2

X2 +18x+9=4(x+1)
Ox2 +18x+9=4x+4
9x2 +14x+5=0

(9x+9)(x+§) —0

x=-=-lorx=-—

Ol



45.

3
2

(x2 + 5x +25) 43

3
2
3

3
[(x2 + 5x + 25) 5] = (343)%

x2 4 5x+25=49
x2 +5x-24=0
x+8)(x-3)=0

x=8orx=3



